(Test No. 104)
Test Name : STATISTICS

Time : 90 minutes Maximum ! 100 marks

Anawer ALL questions.
Each guestion carries ONE mark.

If P(A=1/3,P(B)=1/4 and P{A/B)=1/6, the probability P{B/A) is equal to
P(A=1/3,P(B)=1/4 %Ba P(AB)=1/6, soxd Sowags PB/A) desd

(a) 116 () 16/24

©) 1516 () 516

Two eards sre drawn at random from a pack of 52 cards. The probability that
one is an ace and the other 18 a lang is
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The probability of getting atmost one head when three coins are tossed at a
time g given by
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If A = B, the conditional probability P{A/ B) is equal to
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If A and B are two events, the probability of occurrence of sither A or B is
given by
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6. Sum of the Squares of the deviations is minimum when deviations are taken
from
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7. Mode is the value in a frequency distribution which processes
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8, The variate values which divide & series into four equal parts are ealled
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9. The third quartile is also called
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10. Which measure of dispersion is least affectad by extreme valups?
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() Range (b} Mean Deviation
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